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Remember to give points (X, y) when you are asked for the vertex,
intercept(s) or intersection point. An axis of symmetry is given as an
equation like x = -4

A zero is for a function. It is the value of x when f(x) = 0.
if f(x) =x + 1, the zero is x = -1
and the x-intercept for the graph of the function is (-1, 0)

A root is for an equation when the function is set equal to zero. Itis the
value of x that satisfies the equation.

if x+1 =0, the root is x = -1

Solve means to find the value of x that makes the equation true

What if you need to find the x-intercepts for a function that is in vertex for?
P2
w. =261 -9

0= 2(x1) -9
=
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